
Group 1 Group 2 Group 3 

2+3+10 =  29 +                =33 68+40= 

19-9= 7=               -17 72-20= 

4 ÷ 2=  25 ÷ 5 =  12 ÷ 3= 

2x2=  5X7= 10X7= 

½ of 10 =  ¼ of 12=               of 12 = 6 
   

   

 

 

 

 



Group 1 Group 2 Group 3 

2+3+10 = 15 29 +        4        =33 68+40=108 

19-9= 10 7=       10        -17 72-20= 52 

4 ÷ 2= 2 25 ÷ 5 = 5 12 ÷ 3= 4 

2x2= 4 5X7= 35 10X7= 70 

½ of 10 = 5 ¼ of 12= 3         1/2      of 12 =6 
   

   

 

 

 

 

 

 



 

 

 

 

 

Group 1 Group 2 Group 3 

2+3+1 =  12 +               =16 100+40= 

20-10=  27=               -47 100-         = 79 

10 ÷ 2=  50 ÷ 5 =  18 ÷ 3=  

3x2=  0x 10=  10X11=  

½ of 20 =  ¼ of 20=                of 16 = 4 
   

   



Group 1 Group 2 Group 3 

2+3+1 = 6 12 +        4        =16 100+40=140 

20-10= 10 27=       20        -47 100-21= 79 

10 ÷ 2= 2 50 ÷ 5 = 10 18 ÷ 3= 6 

3x2= 6 0x 10= 0 10X11= 110 

½ of 20 = 10 ¼ of 20= 5         1/4      of 16 =4 
   

   

 

 

 

 

 



Group 1   Group 2 Group 3 

20 ÷ 2 =  38 +          = 49     of 42 = 21 

30 - 5=   35 ÷          =  7 90 –           = 77 

2 x 10 =  2 =              -12 100 ÷ 10 =   

½ of 18 =  5x12 =    3 x 3 =  

11 +1 +9 =   ½ of 24=   86 + 13 =  
   

   

 

 

 

 



Group 1   Group 2 Group 3 

20 ÷ 2 = 10 38 +      11     = 49   ½         of 42 = 21 

30 - 5=  25 35 ÷        5  =  7 90 –      13       = 77 

2 x 10 = 20 2 =         10      -12 100 ÷ 10 =  10 

½ of 18 = 9 5x12 =   60 3 x 3 = 9 

11 +1 +9 =  21 ½ of 24=  12 86 + 13 = 99 
   

   

 

 

 

 



Group 1     Group 2 Group 3 

30 –         = 20 20 =            -37 127 –         = 97 

10 +        +5 =  16 45 +           = 52 90 + 43 =  

2 x 11 =  10 x 10 =  5 x 11 =  

½ of 12 =  ¼ of 40 =         of 100 = 50 

20 ÷ 10 =  100 ÷            = 10 60 ÷ 5 =   
   

   

 

 

 

 



Group 1   Group 2 Group 3 

30 - 10= 20 20 =         17      -37 127 –     30       = 97 

10 +1 +5 =  16 45 +      7      = 52 90 + 43 = 133 

2 x 11 = 22 10 x 10 = 100 5 x 11 = 55 

½ of 12 = 6 ¼ of 40 = 10 1/2       of 100 = 50 

20 ÷ 10 = 2 100 ÷    10      = 10 60 ÷ 5 = 12  
   

   

 


